COVER SHEET

													Α	S	0 9	9 5	5 0	0 (2	2	8	3
											SEC	Re	egist	rati	on N	Nun	ıbeı	r				
D M C I H O	L D	IN	G	S	,	Ι	N	С														
					<u> </u>					<u> </u>	l	l	 			l	l	<u> </u>	<u> </u>			!
			(Con	npai	ny's	Fu	l II Na	L ame	<u>ш</u>								1	1			
	<u> </u>				•				_		ı	I _	I _			1	ı	1	1			1
3 R D F L R	. D	A C	0	N		В	L	D	G	<u>.</u>		2	2	8	1							
P A S O N G	TA	МО		Е	Χ	Τ		М	Α	K	Α	Τ	Ι		С	Ι	Τ	Υ				
	(Busine	ess Ad	ldres	ss: N	Vo.,	Str	eet	City	//	Tow	n/	Pro	vinc	æ)								
HERBERT M. CONSUN	IJI												888	8-3	000							
Contact Person								,		Co	omp	any	^r Te	leph	one	. Nu	ımb	er				
																	(31	rd \ \	ledn	esd	av d	of May)
														_			_(Cui		uy c	, riay,
1 2 3 1 L			SEC				-C								0	5		_ :	1	7		
Month Day Fiscal Year			FOR	IVI I	YPE								A	เททเ		nth 1ee		1	Day	/		
			Г			N.	Δ			7							- 3	,				
		Seco	L onda	ry L	icer			e, I	fΑ	_ ppli	cabl	e										
						Г													7			
C F D Dept Requiring this Doc						L	Δm	end	led	Δrti	cles	Nu	mh	-r /	Sec	tior	<u> </u>					
Dept Requiring time Dec											nt of											
							- 11	otai	AII	loui		DU	1101	VIIIG	15				٦			
Total No. of Stockholders					D	om	esti	С			_			Fore	eign				_			
	To be	acco	mpli	ishe	ed b	y S	SEC	Pei	rso	nne	el co	nce	erne	ed								
File Number							L	.CU				_										
Document ID							Cas	shie	r													
i							-	JC														
; ; ;																						
STAMPS																						
į		_	_	_							_		_									
; ;		Ren	nark	s: P	leas	e u	ise l	BLA	CK	ink	for :	scai	nnin	g pi	urpo	oses	5					

SECURITIES AND EXCHANGE COMMISSION

SEC FORM 17-C

OF THE SECURITIES REGULATION CODE AND SRC RULE 17.2(c) THEREUNDER

. <u>June 16, 2023</u>		
Date of Report (Date of earliest event reported)		
. SEC Identification Number <u>AS095-002283</u> 3.	. BIR Tax Identific	ation No. <u>004-703-376</u>
. <u>DMCI Holdings, Inc.</u> Exact name of issuer as specified in its charter		
Philippines Province, country or other jurisdiction of Incincorporation	,	C Use Only) on Code:
. 3/F Dacon Building, 2281 Chino Roces Avenue, Ma Address of principal office		1231 Postal Code
. (632) 8888-3000 Issuer's telephone number, including area code		
. <u>Not applicable</u> Former name or former address, if changed since l	ast report	
0. Securities registered pursuant to Sections 8 and 12	2 of the SRC or Se	ctions 4 and 8 of the RSA
Title of Each Class No. of Shar	res Outstanding	<u>Amount</u>
Common Shares	13,277,470,000	Php13,277,470,000.00
TOTAL	13,277,470,960	960.00 Php13,277,470,960.00
Indicate the item numbers reported herein: <u>Item 9</u>		
	Date of Report (Date of earliest event reported) SEC Identification Number AS095-002283 3 DMCI Holdings, Inc. Exact name of issuer as specified in its charter Philippines 6. Province, country or other jurisdiction of incorporation 3/F Dacon Building, 2281 Chino Roces Avenue, M Address of principal office (632) 8888-3000 Issuer's telephone number, including area code Not applicable Former name or former address, if changed since is Securities registered pursuant to Sections 8 and 12 Title of Each Class No. of Shares Preferred Shares TOTAL	Date of Report (Date of earliest event reported) SEC Identification Number AS095-002283 3. BIR Tax Identification DMCI Holdings, Inc. Exact name of issuer as specified in its charter Philippines 6. (SEC Identification of Industry Classification incorporation of Industry Classification incorporation 3/F Dacon Building, 2281 Chino Roces Avenue, Makati City Address of principal office (632) 8888-3000 Issuer's telephone number, including area code Not applicable Former name or former address, if changed since last report Securities registered pursuant to Sections 8 and 12 of the SRC or Securities registered Pursuant to Sections 8 and 12 of the SRC or Securities registered Pursuant Incompany I

Item 9. Other Events

In compliance with the Revised Disclosure Rules of the Philippine Stock Exchange (PSE), we hereby report the following DMC shares bought/sold by Isidro A. Consunji, Director, Chairman and President of the Corporation:

Transaction Type	Date	No. of Shares	Price/Share (Php)	Amount) (Php		
Bought (Indirect)*	June 15, 2023	8,400	9.5000	79,800.00		
Bought (Indirect)*	June 15, 2023	1,700	9.4900	16,133.00		
Bought (Indirect)*	June 15, 2023	1,700	9.4800	16,116.00		
Bought (Indirect)*	June 15, 2023	1,700	9.4700	16,099.00		
Bought (Indirect)*	June 15, 2023	900	9.4600	8,514.00		
Bought (Indirect)*	June 15, 2023	900	9.4500	8,505.00		
Bought (Indirect)*	June 15, 2023	900	9.4400	8,496.00		
Bought (Indirect)*	June 15, 2023	900	9.4300	8,487.00		
Bought (Indirect)*	June 15, 2023	4,200	9.4200	39,564.00		
Bought (Indirect)*	June 15, 2023	4,200	9.4100	39,522.00		
Bought (Indirect)*	June 15, 2023	4,200	9.4000	39,480.00		
Bought (Indirect)*	June 15, 2023	21,700	9.3900	203,763.00		
Bought (Indirect)*	June 15, 2023	19,200	9.3800	180,096.00		
Bought (Indirect)*	June 15, 2023	20,900	9.3700	195,833.00		
Bought (Indirect)*	June 15, 2023	10,000	9.3600	93,600.00		
Bought (Indirect)*	June 15, 2023	12,500	9.3500	116,875.00		
Bought (Indirect)*	June 15, 2023	5,000	9.3400	46,700.00		
Bought (Indirect)*	June 15, 2023	3,400	9.3300	31,722.00		
Bought (Indirect)*	June 15, 2023	4,200	9.3200	39,144.00		
Bought (Indirect)*	June 15, 2023	2,500	9.3100	23,275.00		
Bought (Indirect)*	June 15, 2023	1,800	9.3000	16,740.00		
Bought (Indirect)*	June 15, 2023	3,400	9.2900	31,586.00		
Bought (Indirect)*	June 15, 2023	3,400	9.2800	31,552.00		
Bought (Indirect)*	June 15, 2023	3,400	9.2700	31,518.00		
Bought (Indirect)*	June 15, 2023	3,400	9.2600	31,484.00		
Bought (Indirect)*	June 15, 2023	3,400	9.2500	31,450.00		
Bought (Indirect)*	June 15, 2023	4,200	9.2400	38,808.00		
Bought (Indirect)*	June 15, 2023	2,500	9.2300	23,075.00		
Bought (Indirect)*	June 15, 2023	2,500	9.2200	23,050.00		
Bought (Indirect)*	June 15, 2023	2,500	9.2100	23,025.00		
Bought (Indirect)*	June 15, 2023	4,200	9.2000	38,640.00		
Bought (Indirect)*	June 15, 2023	2,500	9.1900	22,975.00		
Bought (Indirect)*	June 15, 2023	3,400	9.1200	31,008.00		
Bought (Indirect)*	June 15, 2023	5,900	9.1100	53,749.00		
Bought (Indirect)*	June 15, 2023	4,200	9.1000	38,220.00		
Bought (Indirect)*	June 15, 2023	2,500	9.0900	22,725.00		

Bought (Indirect)*	June 15, 2023	4,200	9.0800	38,136.00
Bought (Indirect)*	June 15, 2023	8,000	9.0700	72,560.00
Bought (Indirect)*	June 15, 2023	4,200	9.0600	38,052.00
Bought (Indirect)*	June 15, 2023	39,600	9.0500	358,380.00
Bought (Indirect)*	June 15, 2023	4,200	9.0400	37,968.00
Bought (Indirect)*	June 15, 2023	2,500	9.0300	22,575.00
Bought (Indirect)*	June 15, 2023	2,500	9.0200	22,550.00
Bought (Indirect)*	June 15, 2023	2,500	9.0100	22,525.00
Total		250,000		2,314,075.00

^{*}controlling shareholder of a corporation

SIGNATURES

Pursuant to the requirements of the Securities Regulation Code, the issuer has duly caused this report to be signed on its behalf by the undersigned hereunto duly authorized.

DMCI Holdings, Inc.

Issuer

Herbert M. Consunji

Executive Vice President & Chief Finance Officer

June 16, 2023